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1| ®H3F4A [JIIA EF = 20, 000/ | H #A 45 & ZF Ft
2| HM3F4A |ERFE (HAF) # EhAbm 52, 000/ | H {4 45 & ZF i
3| BM3FLA |BH BE & = 10, 000 | A 44 $& % 2 Bt
4| HH3E6R |ERFE (A  # R 300, 000 | {4 45 % 25 Mt
5| FHM3F6A |[MARHBMBEE & R 1,000, 000 | H 4 45 7 2 Fft
6] FH3F6A |FK)I 1 # EER 50, 000/ | H {4 45 7 ZF i
1| BM3F6A |AB AF %% EER 50, 000/ | H {4 45 7 2 Fft
8| FHM3F6A |[#MARHIWME H BHR 30, 000 | H 4 45 7 ZF Fft
9| SH3F6A |5 EARBEMHASH = 30, 000 | H 4 45 7 2 Fft
10| #M3F1A ARSI T -ITX-v— K |EER 200, 000 | {4 45 % 25 Mt
11| FM3F71A |ERAFE (AN  # = 32, 000/ | H {445 & ZF i
12| SM3FTA |ERFE (AN  # = 32, 000/ | H {4 45 & ZF Ft
13| FHM3F8A |/ il #k eiii] 250, 000 | {4 45 % 25 Bt
14| SHSF8A /M FIF *k i) 300, 000 |F{k & E F Mt
15| HM3F8A |[ERAFE (AA) = 100, 000 | H 4 45 & ZF Fft
16| FM3FIA | EFH # = 20, 000/ | H #A 45 & ZF Ft
17| f#M3F9A |[ERFE (AN  # = 30, 000 | H {4 45 & ZF i
18| FHM3FIA |[ERAFE (AN # =ER 30, 000 | H 4 45 7 ZF Fft
19| F#M3F9A |[ERAFE (HAK) H =ER 150, 000/ | H #4 45 & ZF Fft
20| ®HH3FIA |ERFE (HAN)  # =ER 20, 000/ | H fA 45 & ZF Ft
21| SM3FI10R [HH HE ANHEE =AKH 50, 000/ | H {4 45 7 2 it
22| HHI3EI0R |[ERFE (HEN)  # = 20, 000/ | H fA 45 & ZF Ft
23| HF3FI0R [ KA EE # = 35, 000 | H {4 45 7 ZF it
24| HFIBEI0R |ERFE (HN)  # = 20, 000/ | H #A 45 & ZF Ft
25| HRI3EI0A |[ERFE (HfF)  # EhAbm 137, 000/ | H ¥4 5 7 ZF Ft
26| SRISFIIA |f1H % #* = 300, 000 | {4 45 % 25 Mt
27| HF3EIA |ERFE (HEAN)  # = 30, 000 | H {4 45 7 ZF it
28| HABEIIA |[ERFE (HAN)  # = 30, 000 | H 4 45 & 2 Fft
29| HFBEIA |[ERFE (EN)  # = 22, 000/ | H {4 45 & ZF Fi
30| HFA3FIA [FFx Hth 2 R 50, 000/ | H {4 45 & ZF i
31| KFM3EA |FE FEF &K R R 30, 000 | H 4 45 7 ZF Fft
32| HHM3FI12A [JEH HF KBz 50, 000/ | H {4 45 7 ZF i
33| HA3E12A |ERFE (HN)  # = 50, 000/ | H {4 45 7 ZF Fft
34| HR3FI12A MR BF #% R 1,000, 000 | H 4 45 7 2 Fft
35| HF3FI12A |[tkik T #k = 30, 000 | H {4 45 7 ZF it
36| HAISEI12A |ERFE (HN)  # EER 50, 000/ | H {4 45 7 2 it
37| RF3E12A |ERFE (HAN)  # EhAbm 50, 000/ | H {4 45 7 ZF i
38| WHI3EI12A |ERFE (HN)  # EhAbm 50, 000/ | H {4 45 & ZF i
39| FF3EI2A |ERFE (HAN)  # R 150, 000/ | H 4 45 & ZF Fft
40| #F3F12A |[ER/RE EA) % = 10, 000 | 44 $& % 2 Bt
41| #FM3F12R |[ER/RE BA) % = 30, 000 | H {4 45 7 ZF it
42| HM3FI12A |[ERH/RE EA) % = 70, 000 | H 4 45 7 ZF Fft
43| SMAFIR |[ERRE (BA) % ERR 30, 000/ | H {4 45 & 2 i
44 SMAFIR |[ERR/RE BA) % KBz 100, 000 | H ¥4 45 7 ZF Fft
45| SM4FIR |[ERH/RE EA) % KBz 50, 000/ | H {4 45 7 ZF i
46| SMAFIA |BAHI—IL = 100, 000 | H ¥4 45 7 2 Fft
47] SMAF2R |HEREGEKRARHE &K = 500, 000 | {4 45 % 25 Mt
48| SM4F3A |[ERH/E BEAN) % ERR 6, 000, 000 | 5> B 45 7 25 Mt
49| SM4F3R |[ERH/RE EAN) % ERR 6, 030, 000F | 7> 745 7 25 Mt
50| #F44F3A |ERFE (N  # ERR 6, 030, 000F | 5> B 45 7 ZF Mt
51| ®H4E3A B i & = 50, 000/ | H #4457 2 Fft
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